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Pk=0+877.579

S. TERRAPLEN =  0.13 m2.
S.DTIERRA = 2.19 m2.
S. VEGETAL = 9.62 m2.
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SOLAPE CON EJE 802
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Pk=0+877.579

S. TERRAPLEN = 0.13 m2.
S.DTIERRA = 1.83 m2.
S. VEGETAL = 6.42 m2.
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SOLAPE CON EJE 802

18

Pk=0+877.582

S. TERRAPLEN = 0.13 m2.
S. DTIERRA = 1.83 m2.
S. VEGETAL = 6.42 m2.
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SOLAPE CON EJE 802

18

SOLAPE CON EJE 802

Pk=0+877.582

S. D TIERRA = 1.66 m2.
S. VEGETAL = 3.20 m2.
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SOLAPE CON EJE 802

18

SOLAPE CON EJE 802

Pk=0+901.580

S. D TIERRA =  0.50 m2.
S. VEGETAL = 3.20 m2.
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SOLAPE CON EJE 802
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Pk=0+917.579

S. TERRAPLEN =
S. D TIERRA =
S. VEGETAL =

0.03 m2.
0.15 m2.
3.20 m2.
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SOLAPE CON EJE 802

Pk=0+917.579

S. TERRAPLEN = 1.49 m2.
S. D TIERRA = 0.15 m2.
S. VEGETAL = 6.54 m2.
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SOLAPE CON EJE 802

Pk=0+917.582

S. TERRAPLEN = 1.49 m2.
S.DTIERRA = 0.15 m2.
S. VEGETAL = 6.54 m2.
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Pk=0+917.582

S. TERRAPLEN =  2.87 m2.
S.DTIERRA = 0.15 m2.
S. VEGETAL = 9.87 m2.
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629.952

18

Pk=0+920

S. TERRAPLEN =  2.93 m2.
S.DTIERRA = 0.11 m2.
S. VEGETAL = 9.86 m2.
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Pk=0+940 Pk=1+140 Pk=1+300
S. TERRAPLEN =  4.67 m2. S.DTIERRA = 7.49 m2. S. TERRAPLEN =  0.53 m2.
S.VEGETAL = 9.98 m2. S.VEGETAL = 9.37 m2. S.DTIERRA =  0.49 m2.
S.VEGETAL =  6.44 m2.
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Pk=0+960 Pk=1+160 Pk=1+306.230
S. TERRAPLEN = 7.69 m2. S.DTIERRA = 10.81 m2. S. TERRAPLEN =  1.60 m2.
S. VEGETAL = 10.12 m2. S.VEGETAL = 9.19 m2. S.DTIERRA = 0.04 m2.
S. VEGETAL =  6.50 m2.
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Pk=0+980 Pk=1+180 Pk=1+306.230
S. TERRAPLEN = 11.36 m2. S.DTIERRA = 11.85 m2. S.DTIERRA = 4.52 m2.
S. VEGETAL = 10.29 m2. S.VEGETAL = 9.14 m2.
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Pk=1+000 Pk=1+200 Pk=1+306.231
S. TERRAPLEN = 13.25 m2. S.DTIERRA = 11.64 m2. S.DTIERRA = 2.97 m2.
S. VEGETAL = 10.39 m2. S.VEGETAL = 9.15 m2.
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Pk=1+020 Pk=1+220
S. TERRAPLEN = 14.40 m2. S.DTIERRA = 11.43 m2.
S. VEGETAL = 10.43 m2. S.VEGETAL = 9.16 m2.
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Pk=1+040 Pk=1+240
S. TERRAPLEN = 15.77 m2. S.DTIERRA = 11.04 m2.
S. VEGETAL = 10.50 m2. S.VEGETAL = 9.18 m2.
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Pk=1+060 Pk=1+260
S. TERRAPLEN = 13.61 m2. S.DTIERRA = 8.98 m2.
S. VEGETAL = 10.38 m2. S. VEGETAL =  9.30 m2.
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Pk=1+080 Pk=1+280
S. TERRAPLEN =  8.16 m2. S.DTIERRA = 5.11 m2.
S. VEGETAL = 10.14 m2. S.VEGETAL =  9.47 m2.
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Pk=1+100 Pk=1+285.900
S. TERRAPLEN =  2.98 m2. S. TERRAPLEN =  0.01 m2.
S.DTIERRA = 0.03 m2. S.DTIERRA = 3.57 m2.
S.VEGETAL =  9.89 m2. S.VEGETAL = 8.92 m2.
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Pk=1+120 Pk=1+285.901
S. TERRAPLEN =  0.31 m2. S. TERRAPLEN = 0.00 m2.
S.DTIERRA = 2.64 m2. S.DTIERRA = 3.23 m2.
S.VEGETAL = 9.63 m2. S.VEGETAL =  6.32 m2.
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